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KERATEHRASH
FERE26%E 98 16H % T
; = % s = " " % i (kg
BXIE L35 M= i O &% B =15 =15
S [F(AR) 106 600 400
E B 1 10 23.70 by S [F(FR) 126 480 160
[O =N ) 140. 00 0 1, 300 300
MDA B2 4 432 b = H 5(4—2k) 260. 00 0 856 690
Hh o & 430. 00 0 300 230
LA (£5) 3 158 {& W = /,600. 00 0 200 98
H T 1, 900. 00 0 80 20
ZTDHDA X 1 0.60 bv = A F 0 200 80
= (X 6, 600. 00 0 250 50
» L 330. 00 0 500 311
X £ 270.00 0 1, 000 200
ESAY IR 30.00 0 1, 300 600
CHe) 40. 00 0 1, 600 400
z 2 1= 3, 700. 00 0 76 —
520 25 0 4,090 3,260
525 48 0 3, 880 2,680
530 44 0 2, 130 2, 350
540 28 0 2, 050 —
550 9 0 1,580 —
PYLIH, 1, 000. 00 0 800 100
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